July 22, 2019

Project Lead The Way, Inc. 3939 Priority Way South Dr., Suite 400 Indianapolis, IN 46240



Summary

PLTW Gateway (6-8)

\$32,694.27

Automation and Robotics			\$32,694.27
Durable			\$31,886.92
Item	Item Price	Qty	Total Price
Back Saw, 14 inch, 12-14 teeth per inch	\$15.00	20	\$300.00
Bastard-Cut Mill File, 8 inch	\$8.25	5	\$41.25
Butter Knife, metal	\$1.00	20	\$20.00
Classroom Storage Cabinet - 18 x 36 x 72	\$465.00	3	\$1,395.00
Colored permanent markers, 8 pack	\$6.00	10	\$60.00
Desktop 3-Hole Punch	\$7.75	3	\$23.25
Digital Camera, 10.0 Megapixel	\$89.99	3	\$269.97
File handle, 5 pack	\$11.00	1	\$11.00
Meter Stick, Wood, Case of 6	\$22.00	5	\$110.00
Miter Box, clamping	\$16.00	20	\$320.00
Needle Nose Pliers, 5 inch, 5 pack	\$25.00	10	\$250.00
Ruler, Clear Plastic, 12 inch / 31 cm, metric and English	\$1.00	100	\$100.00
Safety Glasses, 12 pack	\$20.00	3	\$60.00
Scissors, 7 inch, plastic handle, pointed tip	\$6.75	10	\$67.50
SD Card, 8 GB+ (for use with digital camera)	\$8.99	5	\$44.95
Storage Organizer (for small hardware), 4 pack	\$62.00	7	\$434.00
VEX Gateway Kit	\$1,125.00	25	\$28,125.00
VEX Performance Tool Kit	\$51.00	5	\$255.00

Consumable \$807.35

Item	Item Price	Qty	Total Price
Bread, loaf, white or wheat	\$1.49	5	\$7.45
Cotton string, 400 ft.	\$4.50	5	\$22.50
Ketchup, 14-oz Bottle	\$3.75	5	\$18.75
Lettuce, head	\$1.99	5	\$9.95
Lunchmeat (turkey or ham), 1 lb, thin sliced	\$3.79	5	\$18.95
Masking tape, 1 in x 60 yd, 9 pack	\$19.00	4	\$76.00
Paper Plates, Pack of 50	\$3.00	5	\$15.00
PLTW Gateway Notebook - 30-pack	\$99.00	4	\$396.00
Powder-Free Disposable Nitrile Gloves, Medium, 100 pack	\$8.75	25	\$218.75
Zip seal bags, 10 in x 12 in, 100 pack	\$8.00	3	\$24.00

Equipment and Supplies Subtotal \$32,694.27

Total \$32,694.27

Total for Items Available in myPLTW Store \$32,323.00

Attention: To avoid potential duplication of orders, and decrease the leadtime to obtain your supplies, we kindly ask that you return a copy of the approved purchase order to the requester to complete the order via the Store in myPLTW. Please do not mail/email/fax the order to PLTW.

PLTW Product List

Quote

Address	PLTW	Created: 07/22/2019
	3939 Priority Way South Drive	Expires: 10/15/2019
	Suite 400	
	Indianapolis IN 46240	
Website	mypltw.org	
Payment accepted	Credit Card and Purchase Order	

Discount code

Item	Item #	Item Price	Qty	Total Price
Back Saw, 14 inch, 12-14 teeth per inch	44PWG108	\$15.00	20	\$300.00
Bastard-Cut Mill File, 8 inch	102420	\$8.25	5	\$41.25
Classroom Storage Cabinet - 18 x 36 x 72	180-6112	\$465.00	3	\$1,395.00
Colored permanent markers, 8 pack	44PWEE343	\$6.00	10	\$60.00
Cotton string, 400 ft.	470092-822	\$4.50	5	\$22.50
Desktop 3-Hole Punch	470020-298	\$7.75	3	\$23.25
File handle, 5 pack	102973	\$11.00	1	\$11.00
Ketchup, 14-oz Bottle	646210	\$3.75	5	\$18.75
Masking tape, 1 in x 60 yd, 9 pack	564931	\$19.00	4	\$76.00
Meter Stick, Wood, Case of 6	470232-418	\$22.00	5	\$110.00
Miter Box, clamping	44PWEE2545	\$16.00	20	\$320.00
Needle Nose Pliers, 5 inch, 5 pack	44PWEE329	\$25.00	10	\$250.00
PLTW Gateway Notebook - 30-pack	PLTWMSEN-30	\$99.00	4	\$396.00
Paper Plates, Pack of 50	470089-536	\$3.00	5	\$15.00
Powder-Free Disposable Nitrile Gloves, Medium, 100 pack	470222-548	\$8.75	25	\$218.75
Ruler, Clear Plastic, 12 inch / 31 cm, metric and English	S90532C	\$1.00	100	\$100.00
Safety Glasses, 12 pack	S01822	\$20.00	3	\$60.00
Scissors, 7 inch, plastic handle, pointed tip	388234	\$6.75	10	\$67.50
Storage Organizer (for small hardware), 4 pack	44PWEE323	\$62.00	7	\$434.00
VEX Gateway Kit	270-1920	\$1,125.00	25	\$28,125.00

VEX Performance Tool Kit	276-1645	\$51.00	5	\$255.00
Zip seal bags, 10 in x 12 in, 100 pack	470206-280	\$8.00	3	\$24.00

PLTW Product List Total \$32,323.00

To place an order for the items included on this PLTW Product List, visit the myPLTW Store. Saved lists expire 90 days after being created or at the end of each calendar year.

Don't have a myPLTW account? To be added to your organization's account, please contact your Program Coordinator or the PLTW Solution Center at solutioncenter@pltw.org or 877.335.PLTW.

Attention: To avoid potential duplication of orders, and decrease the leadtime to obtain your supplies, we kindly ask that you return a copy of the approved purchase order to the requester to complete the order via the Store in myPLTW. Please do not mail/email/fax the order to PLTW.

Equipment and Supplies

Equipment and Supplies Total is calculated based on the details you provided about your classes and the items selected.

Pricing

Prices are subject to change. Annual program participation and professional development registration fees are excluded from this total. Professional development fees may vary by state.

Standard shipping and processing charges are included for items available for order directly through PLTW. PLTW reserves the right to pass on additional shipping charges for orders shipped outside of the lower 48 contiguous states (i.e. Hawaii, Alaska, and Puerto Rico).

Sales Tax

Sales tax (where applicable) is not included in the total. Sales tax will be included at checkout.

Computer Hardware

Note that costs for computers, tablets, printers, and projectors are not included in the total. Refer to **PLTW's Computer Specifications** for details.

PLTW Returns Guidelines

Please visit our **Additional Resources** page to review Project Lead The Way's guidelines related to product warranties, handling of shipping errors, receipt of damaged products, and the return of equipment.

Any Local Supplier Product List

Address	Any Local Supplier				
Website					
Payment accepted	Credit Card				
Discount code	n/a				
Item		Item #	Item Price	Qty	Total Price
Bread, loaf, white or wheat		LS260	\$1.49	5	\$7.45
Butter Knife, metal		LS262	\$1.00	20	\$20.00
Digital Camera, 10.0 Megap	ixel	LS253	\$89.99	3	\$269.97
Lettuce, head		LS263	\$1.99	5	\$9.95
Lunchmeat (turkey or ham),	1 lb, thin sliced	LS259	\$3.79	5	\$18.95

Any Local Supplier Product List Total \$326.32

Attention: To avoid potential duplication of orders, and decrease the leadtime to obtain your supplies, we kindly ask that you return a copy of the approved purchase order to the requester to complete the order via the Store in myPLTW. Please do not mail/email/fax the order to PLTW.

Walmart Product List

Address	Walmart				
Website	http://www.walmart.com				
Payment accepted	Credit Card				
Discount code	n/a				
Item		Item #	Item Price	Qty	Total Price
SD Card, 8 GB+ (for use w	rith digital camera)	23350708	\$8.99	5	\$44.95

Walmart Product List Total

\$44.95

Attention: To avoid potential duplication of orders, and decrease the leadtime to obtain your supplies, we kindly ask that you return a copy of the approved purchase order to the requester to complete the order via the Store in myPLTW. Please do not mail/email/fax the order to PLTW.